VR30EE FIRI P ARARRER

L1RANER) 18130 £
= — R3] 1] = TRE B= B TR TE 2 CRLE ) (oo
5 7B a— A =l 67 62 7.8 341 /450
SHLEH 5 A OF A 26 23 3.8 355 /450
CESRIERA B g 62 62 1.6 279 /450
b O i 17 17 1.9 317 /450
L Yeka— A HE 115 113 5.4 348 /450
SiEHKITA OF ke 25 25 6.3 366 /450
LRI —A B E 113 113 2.5 293 /450
W ITA %’F gg 21 21 2.1 337 7150
e g 71 71 1.9 261 /450
KT R —2 £ 11 i1 15 506 /450
EE 428 421 2.8
& Ft OF kg 100 97 2.6
HEEa+ORRE] 528 518 2.7
{1RBAR) 1A 138 £
=— =71 = ZRE B= DR ETE S CRLE A
5 HoR o — A SRSV T A 248 236 2.5 232 /300
R s T 142 142 1.6 205_/300
LT HH T — A SR TA 390 382 4.3 234 /300
LT HRE =R BT 293 293 2.6 215_/300
T REa— A 180 180 2.1 195 /300
& it 1253 1233 2.6
RANZR) 1H 148 £
=— 231 E0r5] = TRE E= B TR TE A CRE ) (oo
P — A R 58 57 11.4 331 /450
SERRIR VT A OF JE 124 110 3.4 340 /450
B — A WIS A 59 59 1.7 277 /450
SH T A OF k& 78 78 1.9 310 /450
LB a— A 71 | 106 105 13.1 351 /450
SRy T A OF ka 162 155 11.1 359 /450
LB a— A 71 | 116 116 2.5 291 /450
SH T A OF ka 141 141 2.8 322 /450
e HEET A 73 73 2.7 268_/450
e B 9] gi e 581 /450
E 412 410 3.4
& Ft Of Ja 596 575 3.1
EEA+OREE] 1008 985 3.2
(2B AR 1H 158 £
= — 271 ZEE ZRE B=x DR ETE S CRLE A
T 7 H R — A SELRHR T A 223 116 10.5 353_ /450
RN s T 105 105 2.1 311 /450
LT BT — A SR TA 373 234 9.8 354_/450
L HRE =R BT 210 210 2.7 314 /450
LA 131 131 2.4 292 /450
& Bt 1042 796 3.6

(1) ARIENER CHIE R) 1IN T

(7) EEE. 5% A SEATRRLESGE AR X 1. 2 BHERELET,

() EFE, 5 B R TRBRLIG G

ZOEFHRE, HFE B BBOEFA XL, 2 LOFmWFEHERELET,
(E2) FARELFE2-HIKHEOZRELEHET,




